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Accounting
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Candidates are required to give their answers in their own words as far as
practicable. The figures in the margin indicate full marks.

Time: 3 hrs. Full Marks: 75

w8 @ ST RTE | (Attempt all the questions)
TF ‘@ (Group 'A")
SR M LR T (Very short answer questmns] [11x4=A4)

9. amﬁwmm‘ﬁhﬂﬂmmm

Write any two fcatures of Public Cempany.

3 ST dofterE sfonfu a1 (Define authorized capital.)
el T g% ¥ w1 (Write any two items of assets.)

¥, ST ST 7 GEAET HEEE AETor | akny , Costalloc
Write any two imnortance cf Cost Accounting. [Jeu/S¢0n ™ T

K. hﬂavmﬂmwmmﬁamnml

Classify the overhead on the basis of control.

§ [rowig TVETE Ay aee |

Write the meaning of decentralized store.
9, WAY FTEHN ATAT aeqer | (Write about time card,)
¢, orar AT FVeR TP 7 §F TEEE S TR |

state any two elements of computer system in accountizg,
R. ¥, 9,00,000 YEATET HTH GATERA T T TR |
Prepare adjusiment entry of provision for tax of Rs. 1,00,000.
%W40:(Contd...)
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1041'K" (2)
qo. et Re@Y qemTa armurcy dveiy Ay wmgernd Rk s Prafeor e

From the following information, calculate cash paid to creditors in second

year.
%9 @R (Total purchase) Rs. 12,00,000
R aTEEE (Sundiy creditors) !
: Year first Rs. 80,000
1 Year second Rs. 1,20,000
4. Wff® s 45,000 FW, T Rrrerdy aar afomr 3,000 F.901. g W qXq
WREAT T AR |

Annual requirement is 18,000 kg. and Economic Order Quantity is
3,000 kg. Find out number of order.
'F ‘@' (Group 'B)

dft SAUH® WIAE® (Short answer questions) [Gx4=Y¥0]
j}-qwmmﬁ. 100 TI& §,000 faﬁnﬂmhﬂmmmﬁ
' T8 fresreT =)

A Company issued 6,000 shares of Rs.100 each payable as follows :
AT (On arplication) | Rs. 30
atgwigHT (On allotment) , Rs. 45
yaw @47 Hfww [@&C (On first and final call) Ks. 25

4 al 0 ciaHen %4000 FFRIT VTR Fft AT AT WAl | AATHEEHEA 3,000 HATHTE T,
¥,000 HRALFATE THIIIIE ST dighie 7 ol { 000 FrazFeEaTg Real

TR | ATATTIT VTR A8 T@Hwarg WMo frmmreaT qwmdem i | afw
FeamaY L 00 [T TTTAT ARF ATTARIH TFIUT.THH YT WY |

Application were received for 9,000 shares. Among them, applicants for
3,000 shares were allotted full, 4,000 applicants were allottcd on pro-rata
basis and rest applicunts were refunded. Excess application money were
adjusted on subsequent calls. All money duly received except final call
money on 300 shares.

TR TMO| (Required): I [R+9.X+1.4]
4) YT AT (Share application)
b) YT Afgwig (Share allotment)
c) waw aqr Afwrd f&wr (First and final call)

HHM:(Contd. ..
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1041'K"

93.(1) ! TR qu e e aeafaes 5, oo g T o i gew

Presror wl afe w=ir

P Company issued shares of Rs. 100 cach at 10% discount to purchase following

assets from S Company.

e aur AR (Plant and machinery)
wiH=T (Furniture)
Ay (Inventory)

TR O (Required):

V< Prasmoe i wf afes Tvas

Rs. 6,00,000
Rs. 2,00,000
Rs. 1,00,000

[1+9]

Joumnal entries for assets purchased by issuing shares.

1) & wwodd ¥ af 9iy Qo shroe gewr feat 7 T8 % 9,000 TT@T Koo e,
0 fer mrss & yhror afafers e freemae 1=y |

C Company issued 500, 10% Debentures of Rs. 1,000 each at 5% premium,

redeemable at 10% discount after 5 years.

TR e (Required):

YA Frprae aun Reafer TeEs

[1++4)

Entries for issued and redemption of Debentures

¥, QT FHAIET TraTEea st dsera freram Reust g7

~ The closing ledger balances of company are given below:

Rra<er (Particulars)

e A= (Opening stock)

@f® (Purchase)

Sqrel (Wages)

aaq (Salary) |

ge o<t (Discount received)

= @9 (Interest expenses)

qymafi® @ (Administrative expenscs)
fert (Sales)

frsmqe @ (Advertisement expenses)
aT8T &Y (Rent expenses)

gt T aft @< (Water & electricity expenses)

q9 M@ (Additional information);

i) afrr AseI (Closing stock)
i) AR come tax provision)

1) Rt it wire (Outstanding rent)

- @ (Rs)

40,000
5,50,000
60,000
80,000
10,000
12,000
35,000
9,00,000
25,000
15,000
30,000

Rs. 50,000

25%

Rs. 3,000
4 (Contd...)



1041'K" (4)

aare e (Required): [3+3] -
a) =T AT (Trading Account)
b) T AT "W (Profit & Loss Account)

qy, e Fvrfay aRgEd T Frerar Regar g

o The trial balance of a company is given below :

&f® (Purchase)

T (Wages)

U®® (Salary)

SR WIET (Prepaid rent)
A& (Machinery)
=T (Furniture)

FTETEE (Debtors)

% (Cash)

frt (Sales)

YT it (Share capital)

sfqafed AW (Retained eamings) -

4,50,000
3,50,000
70,060

8,70,000 8,70,000

qY ¥MSU (Additional information):
i) &frw wrET @9 (Prepaid rent cxpired) Rs. 12,000
i) ATl FMFA (Depreciation on machinery) @10%
TR T{E (Required): (%)
F1 fater (Work sheet)
@z : T Ao AT T R T 99g )
( You should prepare format of worksheet yourself.)
9. ST SEreT A AGTE T T B i fmEa e TR R+
Write the meaning of cost accounting and exglain its any thi=e limitations.
99, (I) F=Fa afest HY ¢ FRABES! STeAT THRY | R]

Explain any two advantages of centralized purchase.

(1) 718 wfgAThr WveR FRERES e Ry g

The following store transactions are provided for the month of Magh:
#Tg (Magh) 1: Y& #%e1@ (Opening stock) 500 units@ Re. 20
Y (Magh) 7: @@ (Purchase) 600 units@ Rs. 22

WHT, (Contd...)



(5) 1041'K"

wra (Magh) 15: @@ (Purchase) 800 units@ Rs.23
wre (Magh) 25: PrfY (Sold) 1,500 units

AT FRRE (Required): [1+3]
smaftres e woel smnta waw smr g9 P faftr sdvr w8 afes
At & T Ry armr

Value of closing stock and cost of goods sold using First In First Out (FIFO)
method under periodic inventory system.
q&. (1) TS FTHRRA UF FRATHT Y00 THIE AN JTIRA 4G | qTHTT IeA1=ZA T

HYZT 40 §FTE §AG | TTERT IR UveT %, %0 g |
A worker produces 400 units in a weck. Normal production per hour will
be 10 units. The wage rate per hour is Rs. 50.

qar e e. (Required): []
FHIS! & woara! ARl (Earning of worker in a week)

(I) Srrer @ ferefia sr@Terr gemT T_F FreraeT qarees gt A |

On comparison of cost and financial accounts, the following facts were
disclosed.

a) ST €T ATHIK T AR
Net profit as per cost account : Rs.25,000

b) AT AGTAT FREMT AT & a4t Ay ¥
Factory overhead over recorded in cost account : Rs.10,000
c) Y[& HISTT AN AGHT AUF earea
Over valuation of opening stock in cost account : Rs.5,000
" d) 9T SETAT BEEE W Araay
Depreciation under recorded in cost account : Rs.3,000 ~—
T T (Required): 3)
v fearar frem faaror

Cost reconciliation statement

9%, HEARAT FPYET TR FA GTe HEATE ATAT TR | [4]

Explain any five importance of computer system in accounting.

d

AU (Contd...)



1041'K' (6)

TE ‘T (Group 'C)
fre@ SUUH® WOIE® (Long answer questions) [Ix6=3¥]

}(Qﬂc‘l FATT } T gt g e frer aifoe gt 4 ¢
Following Trial Balance as on 31" Asar 2081 :

’ e AT (Opening stock)
2 |af® (Purchase)

2 | AT (Machine)

v | =it (Fumniture)
FETHIE® (Debtors)

4 | @t (Carriage on)

@fEAT (Purchase)
g | FfiT (Sales)
Y |Rpat (Returns)

le| 5% &% =T (8% Bank loan)
t ¢ |90% ST (10% Investment)

1’2 | ¥rgT §oft (Share capital)
) ¢ | STBE® (Creditors)
t4) | 7% @41 &% (Cash & Bank)

ST (Total) 1375000 | 13,75,000

qy smerase (Additional information):

i) afrr AT (Closing stock): Rs.90,000
i) ARTTdAT TS (Depreciation on machinery): | 10%
iii) @A WUTPT AMT =T (Provision for bad debts): 5%

iv) g€ Afgrer aea fat &l (Outstanding salary for two months)



(7) 1041'K’

LA ‘T‘Iﬁ‘[ (Required): [¥+¥]
a) NFRS s=rda srnr st frager (Statement of Profit or Loss on NFRS)
b) NFRS s=vta P sgeara Praroor (Statcment of Financial Position under NFRS)
OR (H9d7)
a) wgwTer sy Reer (Multi step income statement)
b) Rt srrearay Rracer (Statement of financial position)
4. Frarar areameE Reus g7 :

Fulluwing Balance Sheets given as :

208 203]
Llablhtms Assms

qT 111 (Stare Capha S(+T (Land) 300.000
: (Debenture) 2.00,000 -I.SD,O(I) 1=¢ (Plant) 3.00,000
HIER® (Ciedntors) 60,000 | 40,000 T?l?r-’l?l'{stqck} 20,0600
W (Overdnalt) 50,000 £0,000 | ATATHIEE (Detworn) 80,000
afqafd {A1%I % (Cash) 1,50,000

(Retained Exining) 40000| 90,000
IEEI (Total) 7,50,000 | 9,60,000 | STHT (Total) 7,50,000

059 gl A T (Income statement for 2081)

fgaToT (Particulars) (Rs.)
fr= (Sales)
Less : [ 1T (Cost »f zoods sold)
% TATHI (Gross profit) 4,00,000
Less : @98® (Expenses)
farFa Tar TOTEIA® (Selling & administrative)
AT eHT m (Depreciation on plant)
REaTHT TSI (Premivm on redeemption of Debenture) 3,531,000
gg ATT (Net profit) 70,000
Less ; AT ‘]fl"ﬂ (Dividend paid) 20,000
afaared A (Retaining Earning) 50,000

99 FAFTasE (Additional information):
€. ¥0,000 fFATdl §&0 T @A Al iy T At @ ®. 3,30,000 A
af wfa@y | (Plant was sold at book value of Rs. 40,000 and purchase a
new plant for Rs. 3,20,000.) HHA:(Contd...)



11'K" 1041'K" (8)

Y+Y] T TER (Required): [¥+3+1+1)
“RS) gueaet faftrare i yane Praon (Cash flow statement using indirect method)
NFRS) /qaa'rmﬂﬁrﬁrf‘m ArAErdrE fagua g

A fncmry prnvldc': lllc following information :

Ttems
it @@ (Material purchase)
afe q@rft (Carriage on purchasc)
yeqar |qEr (Direct wages)
yeqs @9 (Chargeable expenscs)
WK A& (Custom Duty)
Fuerer it (Indirect material)
Fr@m™r WreT (Factory rent)
%™ (Dcpreciation) on
\: F@mET ATAT (Factory machinery)
. FMeg wiaar (Office furniture)

+ faaror T (Delivery van)
aifedt garil (Carriage outward)
F1 Ye® (Legal fee)
AR (o (Audit fee)
ST AseTa (Stock of goods)
faze: (item) Y% (Opening) | af=w (Clnz::i.-.g)
- (Rs. (Rs.
it (Material) 40,000 60,000
o @ard a&] (Semi finished goods) 80,000 20,000
aard 9% (Finished goods) 1,00,000 70,000
et Af (Profit policy) 20% on cost
TR THerq (Required): (5]
arra a7 (Cost Sheet)
T s



